ISO9001:2015 (€

TCQ2&%

PR
L B EAEDUTME , SHESTRE. 3. EETSEERASRARRROE. @
2. HEARIEA T PUMIR , PUMREBIRERS. 4. WWHSERAMEITER , MERMEGRERES | ETETE.
LT, A, MM, B, 5. RS IS TR A . j:;N

PPRM
ZX
MHL2
SFE

fiTam

-_ﬂﬂ- =
i CcDU

TwmmmeE | oH . AWE %E}L%M& 32 5-50 D-A93 s
D : B 40 75,100 e MGP
50 * RS EIM MsQ |
63 BHBITI
80
100

g mis
EL42(mm)
e S
TAENR =5
ERErEE | Swm 0.1~1.0MPa
{RIEMES 1.5MPa
EFREEE -20~80°C
sEEEeE | SR 30 ~500mm/s 30 ~350mm/s 30~ 250mm/s
EEOR G1/8 Gl/4 G3/8

2-|P84



® TCQ25:51

SHE
tE
sI

SIBfF
SIB

SQ
DNT
SC/SU
scT
SCR
sL

DN
DSN
DIN/DSNH
MA
MAC
MA/MACH
MAL
MALC
MALMACLE
SDA
Q2
ADN
TADN
PPRM
X
MHL2
SFE
MXH/MXQ
P
2
cbu
™
cxs
MGP
MSQ

2-1P85

i mepsiamE

-

MR -DBWIKTN

N2

U=px

wS 2R ’ WS 2R
1 "E 9 TEEAT
2 7 FERET 10 I
3 [EIEHR 11 HEkEE
4 SHF 12 E=
5 aN ] 13 e
6 FLAEIHEE 14 A
7 7 15 e
8 s

ISO9001:2015 Ce

§srmRYT

Q /exp &
o
/
WL B+iTE
A+iTH
_'_'15/ < R
7&
- 4| m
oxd-2B oo
2x2RA 2
ol
L
t

SE:

wz/mes | (TE0E

(mm)

4_?

2XEDHBE

2XHAR

TCQ2Z5!

EA
EB

EC
Y]

OKB

7
\K_AJ

I
E e

7S

SHSE

5 0 23 5.5 | 11.5 | M5X0.8 -
32 7;0—580 - - 75 | 105| cus | P8 |NPTLS 50 | 33 | 7.5 |10.5| G1/8 | PT1/8 | NPT1/8 | 45 | 44 | 35
5-50 46.5 | 29.5
40 see T eee T 508 8 11 G1/8 | PT1/8 |NPT1/8|56.5|39.5| 8 | 11 | G1/8 | PT1/8 | NPT1/8 | 52 | 515 | 38
5-50 50.5 | 30.5
50 5o 66 Teos T aoe 10.5|10.5| G1/4 | PT1/4 |NPT1/4|56.5|39.5|10.5|10.5| G1/4 | PT1/4 | NPT1/4 | 62 | 61 |485
5-50 56 36
63 5166 e P 10.5 | 15 Gl1/4 | PT1/4 |NPT1/4| 66 | 46 |10.5| 15 | G1/4 | PT1/4 | NPT1/4 | 77 | 76 | 59
5-50 67.5 | 435
80 S Tee T e e 125 16 G3/8 | PT3/8 |NPT3/8|77.5|53.5|125| 15 | G3/8 | PT3/8 | NPT3/8 | 98 | 97 | 75
5-50 79 53
100 SET66 %6 & 13 | 23 G3/8 | PT3/8 |NPT3/8| 89 | 63 | 13 | 23 | G3/8 | PT3/8 | NPT3/8 | 117 | 116 | 92.5
ﬂ?é/ﬁ%l HA OA HB 1A 1B J KA KB L M| N |OB|RA|RB| V | W | Z | (0]
32 M5X0.8 M6X1.0 592 60 585 | 45 | 28+0.02 | 198 | 7 34 | 55| 9 17 7 35 | 10 | 14 | 15
40 M5X0.8 M6X1.0 592 69 67.5 5 33+0.02 | 233 7 40 | 5.5 9 17 7 42 | 10 | 14 | 15
50 M6X1.0 | M8X1.25 697 86 84.5 7 424002 | 297 | 8 50 | 66 | 11 | 22 8 |545| 12 | 19 | 16
63 M6X1.0 | M10XL5 6°9% | 103 | 100 7 50+0.02 | 354 | 8 60 9 14 | 285|105| 68 | 12 | 19 | 19
80 M8X1.25 | M12X1.75 | 8% | 132 | 129 6 65+0.02 | 46 10 | 77 | 11 |[175(355|135| 86 | 14 | 25 | 22
100 M10X15 | M12X175 | 10" | 156 | 153 | 6.5 | 80+0.02 | 566 | 10 | 94 | 11 | 17 |355|135| 108 | 16 | 25 | 25

SHELE
e
SI

SIBft

SIB

SQ
DNT
SC/su
SCT
e
SL

DN
DSN
DN/DSNf
MA
MAC
MA/MACH
MAL
MALC
MAL/MACLYS
SDA
Q2
ADN
TADN
PPRM
ZX
MHL2
=R
MXH/MXQ
cJP

CJ2
Cbu
™

CXS
MGP
MSQ

2-1P86



